# Vertical Division with a Helper Grid

Name:

Solve each problem.

1) 2)

778829 9215060

4) 5)

561468 15|12090

7) 8)

539328 8416529

3)

6)

9)

364896

4411804

506554

Answers
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
D) 114r51 2) 55 3) 136 . 114r51
77/8829 92(5060 36[4896
0 0 0 2 55
88 50 48
77 0 36 s 15
112 506 129 . 26112
77 460 108
359 460 216 5. 139r5
308 460 216
51 ) 0 6 41
4) 26r12 5) 13915 6) 41 ! 176
56(1468 15[2090 44(1804 s 77161
0 0 0
14 20 18 0. 13114
0 15 0
146 59 180
112 45 176
348 140 44
336 135 44
12 5 0
7) 176 8) 77161 9) 131r4
53[9328 84(6529 50(6554
0 0 0
93 65 65
53 0 50
402 652 155
371 588 150
318 649 54
318 588 50
0 61 4
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# Vertical Division with a Helper Grid Name:

Solve each problem. Answers
77 r61 114 r51 26 r12 139 r5 131 r4 41
176 136 55 1
1) 2) 3)

778829 9215060 36(4896

4) 5) 6) 8.
56|1468 15|2090 4411804

7) 8) 9)

539328 8416529 506554
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